The following table supplies data of the inflation rate and the corresponding prime lending rate during the same time period.

	Inflation rate (%) (x)
	Prime lending rate (%) (y)

	3.3

6.2

11.0

9.1

5.8

6.5

7.6
	5.2

8.0

10.8

7.9

6.8

6.9

9.0


Question 1
The linear relationship between the inflation rate and the prime lending rate can be represented by the regression line

(i) y = 3.17477 + 0.65407 x

(ii) y = 0.65407 + 3.17477 x

(iii) y = -2.76656 + 1.26128 x

(iv) y = 1.26128 – 2.76656 x

(v) y = 2.28372 + 0.88372 x

Question 2

The correlation coefficient equals

(i) -0.908

(ii) +0.495

(iii) +0.546

(iv) +0.908

(v) none of the above

Question 3

Definition of closeness

· a correlation coefficient that is less than -0.8 is considered to be close to -1

· a correlation coefficient that is larger than 0.8 is considered to be close to +1

· a correlation coefficient that is between -0.2 and 0.2  is considered to be close to zero

Consider the following statements about the correlation coefficient determined in the previous question.

(a) the correlation coefficient is close to +1

(b) the correlation coefficient is close to -1

(c) the correlation coefficient is close to zero

(d) the correlation between the inflation rate and the prime lending rate is high

(e) the correlation between the inflation rate and the prime lending rate is low

Which of the above statements is true?

i. Only (b)

ii. Only (c )

iii. Both (b) and (d)

iv. Both (a) and (e)

v. None of the above
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Questions 26 and 27 relate to the following situation:

A broker at Live Comfortable Assurance suspects that there is a linear relationship between the monthly premium;
payable on a policy and the number of policies sold per year. He examines the following data of the corpany’
records over the past five years.

Monthly premium of | Number of policies
a policy in rand sold per year
(x) (y)
80 5000
120 5500
250 6000
300 4250
400 2000

Question 26

The regression line equation is

[1]  y=-868x+654746.
[2] y=654746x - 8,68.
[3]  y=-0,06lx + 50741.
[4]  y=50741x - 0,061.

[5] none of the above.

Question 27
The correlation coefficient equals
[11  -0,7277.
(2] —0,0609.
[3]  0,0609.
[4] 07277

[S]  none of the above.

Question 28

The coefficient of ................. represents the part of the variation in the dependent variable that can be
explained by the independent variable.
The missing word is

[1]  correlation.
[2]  determination.
[3] regression.

[4] relation.

[5]  summation.
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Question 24

The following table represents the cash inflows (after tax) of an investment.

Year | Cash inflows
R
200000
400000
100000
300000
600000
500000

U= W N =

If the average rate of return is 9,211%, then the original investment (rounded to the nearest thousand
rand) was

{1
2]
[3]
[4]
(51

R350000.

R1 487 000.
R2280000.
R3224000.

none of the above.

Question 25

Monthly deposits of R100 each are made into a bank account earning interest at 18% per year, com-
pounded monthly. The time (in months) that it will take for the account to accumulate to R20000 is
given by

(1]

(2]
[3]
(4]
[5]

_ In[200(0,015) + 1]
T In(1+0,015)
_ In[200(1,015)]
B 0,015
n = In[200(1,015)] - In(1,015).
_ In[200(0,015) — 1]
" In(1+1,015)
none of the above.

[TURN OVER
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The future value of a stream of coupons is given by

Fe = 655300075




The amount of interest in this future value equals

1. R113,75

2. R130,00

3. R151,48

4. R281,48

5. none of the above
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The equation for Stock Nonsense is

74

147 0135\%
P= —i—am,ﬂm + 100 (\1 + —2—') and f = ﬁi




If the settlement date is 18 April 2003 then the maturity date is

1. 18 April 2017

2. 1 July 2017

3. 18 October 2017

4. 1 January 2018

5. none of the above

Question29 and 30 relate to the following situation:

A loan of x rands is to be repaid in 20 payments.  The first 11 payments are R1 000 each, paid at the beginning of each month.  Thereafter the payments are R800 each per month, paid at the end of each month.
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The loan can be denoted by the equation

[1]  x=(1+1)1800a7;

[2]  x=1000a; + 800ag;.

3] x=(1+1)1000agy; + 800ag;.

[4] x=(1+1)1000a1; + 800az;(1 + i),
[5] none of the above.




Question 30

If an interest rate of 17,5% per year compounded monthly is applicable, then the present value of the loan equals

1. R15 957,78

2. R16 797,24

3. R16 944,46

4. R31 483,39

5. none of the above

